A-ED-E-1: (Nectar in a Sieve) 

(1)  In the Indian short story “Nectar in a Sieve” by Markandaya the character Rukmani tries all her life to escape from being a poor village girl. (2) From the time she marries into a lower caste family her karma is set for her to be a poor village wife. (3) Although her religion says it is impossible for her to succeed. (4) She still strives to improve life for her husband, for her children, and including herself. 


(5) As a little girl, Rukmani had dreamed of a grand marriage, especially since her father was the headsman of the village. (6) Then the British took over, and the headsman was no longer a prominent figure within the villages everyday life. (7) This was the beginning of the many hardships Rukmani has had to face.


(8) She is now married to a poor tenant farmer, Nathan to whom she is devoted. (9)Having been the daughter of a headsman, knows nothing of farming. (10) To succeed as a farmer, she had to learn how to raise many different vegetables and fruits because in India the dry season is followed by a treacherous monsoon season. (11) Rukmani has a daughter and many sons and her family’s fortune begins to improve. (12) Then the monsoons hit and destroy the crops and the farm.


(13) Rukmani tried all her life to escape the poverty her karma had destined for her, she never once complained. (14) For all the hard work, blood, sweat, and tears that Rukmani endures, tragically her karma turns out to be true.

1. How should sentence 1 be corrected?

A. change Indian to indian
B. change “Nectar in a Sieve” to Nectar in a Sieve
C. change Markandaya to Markandaya,

D. change poor village girl to poor, village girl
2. How should sentence 2 be corrected?

A. change From the time to From the time,
B. change  family to family,
C. change for her to for them
D. change poor village wife to poor-village wife
3. How should sentence 6 be corrected?

A. change British to british
B. change over, and to over and
C. change villages to village’s 

D. change life to lifes
4. How should sentence 8 be corrected?

A. change married to marryed
B. change poor tenant farmer to poor-tenant farmer
C. change Nathan to Nathan,
D. change she is devoted to he is devoted
5. How should sentence 9 be corrected?

A. change headsman, to headsman
B. change headsman, knows to headsman, she 

C. change headsman, knows to headsman; she knows
D. change knows to know’s
6. How should sentence 11 be corrected?

A. change daughter and to daughter, and
B. change sons and to sons, and
C. change family’s to families
D. change begins to began
7. How should sentence 13 be corrected?

A. change Rukmani to Rukmani,
B. change life to live
C. change escape the to escape: the
D. change her, she to her, but 

8. Which of the following sentences is a fragment?

A. sentence 3

B. sentence 5

C. sentence 12

D. sentence 14

9. How should sentences 3 and 4 be combined?

A. Although her religion says it is impossible for her to succeed, she still strives to improve life for her husband, for her children, and for herself.

B. Although her religion says it is impossible for her to succeed, she still strives to improve life for her husband, for her children and including herself.

C. Although her religion says it is impossible for her to succeed; she still strives to improve life for her husband, for her children, and including herself.

D. Although her religion says it is impossible for her to succeed, yet she still strives to improve life for her husband, for her children and for herself.

10. Which transition would best fit at the beginning of sentence 13?

A. However,

B. In addition,

C. On the other hand,

D. In conclusion,

